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1. FcRAEBRIXNERMERETIN G: G=1/4*(G1+G2+G3+G4)
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m P.(G)—P.(R)=[(P1(G) — P (R)) + (P.(G) — P>(R)) ] + 2
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Avg g = (GO+G1)/2;
->IntpG - Rc = -8.25%R@ + 0.5%GO -

Avg

IIIHHIIIIII%HIIIIIIHHlllllllHHIII|II|IIII

ORI IX5RIELE. RIEEE—HMPIEEIN T F:

(RO+2RC+R1)/4;

->IntpG = -0.25%R@ + 0.5%GO + ©.5%RC + ©.5%G1 - 0.25*R1

@.5%Rc + ©.5%Gl - @.25%R1
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Grad_h = abs(G1,G62) + abs(2*Rc,(R1+R2));
Grad_v = asb(Ge,G3) + abs(2*Rc,(RO+R3));

+ IRIBEE, TERSIREER

if(Grad_h < Grad_v) IntpG = IntpG_h;
else if(Grad_h > Grad_v) IntpG = IntpG_v;

else IntpG = (IntpG_h + IntpG_v)/2;

o HEXBERE

Grad_N = abs(B1,B4) + abs(2*IntpGc,(IntpGl+IntpGa))
Grad_P = abs(B2,B3) + abs(2*IntpGc, (IntpG2+IntpG3))
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if(Grad_N < Grad_P)
Intp8 = (B1+B4)/2 + (2*IntpGc-IntpGl-IntpGa)/4;
else if(Grad_h > Grad_P)
IntpB = (B2+B3)/2 + (4*IntpGc-IntpG2-IntpG3)/4;
else
IntpB = (B1+B2+B3+B4)/2 + (2*IntpGc-IntpGl-IntpG2-IntpG3-IntpGa)/4;
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Grad_N = abs(B1,B4) + abs(2*IntpGc, (IntpGl+IntpG4))
Grad_P = abs(B2,B3) + abs(2*IntpGc, (IntpG2+IntpG3))

B1 B2

B3 B4
IntpG3 IntpG4

?!.URF @0errotsOwar
« IRIERE, THRAREER

if(Grad_N < Grad_P)

IntpB = (B1+B4)/2 + (2*IntpGc-IntpGl-IntpG4)/4;
else if(Grad_h > Grad_P)

IntpB = (B2+B3)/2 + (4*IntpGc-IntpG2-IntpG3)/4;
else

IntpB = (B1+B2+B3+B4)/2 + (2*IntpGc-IntpGl-IntpG2-IntpG3-IntpGa)/4;
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Avg g = (G@+Gl)/2; Avg r = (RO+2Rc+R1)/4;

->IntpG - Rc = -8.25%R® + 0.5%GO@ - 0.5%Rc + 0.5%Gl - ©.25*R1
->IntpG = -©.25%R@ + @.5%GO + ©.5FRc + ©.5%G1l - ©.25%R1
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Specifically, to interpolate G values at an R location, for
example (the ‘+’ pixel in Fig. 1), we use the formula

g(l,j):ég(l,j)+aAR(l,J) (2)
where Ag(7,j) 1s the gradient of R at that location, computed by
Arli. 2= Sra+m, )

(m,n)={(0,-2), (0,2), (-2,0), (2,0)}
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G at R locations G at B locations
+1/2 1 3/2
1 -1 11 4 1 2 2
114 |5 |4 1 | +1/2 5 +1I2| |-3f2 6 -3/2
1 -1 11 4 1 2 2
+1/2 1 -3/2
R at green in R at green in R at blue in
R row, B column B row, R column B row, B column
+1/2 il -3/2
1 -1 11 4 1 2 2
114 |5 |4 1 | +1/2 5 +1/2| -312 ] -3/2
1 -1 11 4 1 2 2
+1/2 1 -312

B at green in B at greenin B atred in
B row, R column R row, B column R row, R column
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